Вариант С5-500621-1
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R1 = 0 

L1 = 0

C1 = 0 

R2 = 20 Ом

L2 = 20*10 -3 Гц

C2 = 20 мкФ

Um = 160 В

ψu = 80o
f = 500 Гц

Найти мгновенное значение входного тока и показание прибора V2:

Um = Z Im
         ______

Z = √R22 + X2 = (400 + 99,9998)1/2 = 22,36 Ом

X = ωL2 – 1/ωC2 = 10000*10 -3 – 1/10000 = 9,9999

ω = 2πf = 2π*500 = 3142 c -1
Im = Um / Z = 7,16A

Показание вольметра:

V2 = Re(U(t)) – i (1/ωC) = 160 cos80o – i(15,91*10-7) = 27,19В
U(t) = Um sin(ωt + ψu) = 160 sin(ωt + 80) = 160 sin(3142t + 80) = Um ejψu = 

= 160 ej80 = 160 (cos80o + i sin80o) = 160 cos80o + 160 i sin80o
Теперь найдем мгновенное значение тока:

i = Im sin(ωt + ψi) = 7,16 sin(3142t + 8o)

tgφ = ωL2/R2
φ = arctg(ωL2/R2) = arctg3,142 = 72o
φ = ψu – ψi
ψi = 80o – 72o = 8o
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